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el s 2,219,671 2,159,325 60,346
LHels At &l 553,467 668,635 A 115,168
FoUEHWMNA 528,204 649,224 A 121,020
LLHHF XA 226,204 347,224 A 121,020
101 @14 dl 34,023 32,566 1,457
04 IIZHH2RNESS 34,023 32,566 1,457
OBAMEAQRY 19,482
-JlE= 48,2403 * 19 » 250 12,060
- RE5gsY 48,2403 * 1H = 50= 2,412
-S4 5,000& = 250 1,250
- WsS2Zl 5,000& = 250 1,250
PN =, 48,240 « 1 = 12 579
-2 = 17,551,000& * 11% 1,931
O MXHLUSXAAY 12 14,541
-Jl2s 48,240% * 3% * 70 10, 131
- ReEsgdsd 48,2403 * 3H x 133 1,882
PN = 48,240% * 3Y x 3 435
- 5222 Y 48,2408 x 1.5 » 3H » 3 652
—-40HE2d8= 13,097, 1602 *11% 1,441
201 L2l 125,028 137,858 A 12,830
01 At 2t 2l 34,260 35,040 AT780
OBlE4a et A 18,000
-QEA HXE TAFSH
10,000& * 48 = 12& 480
— QI ANAL OIAfH| 90,000& = 108 * 33l 2,700
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1,235,000& * 128 14,820
OUWLIISUHAIR A dXts 800,000&  12& 9,600
O=stod Let==&| 6,000
- UHEES MY 180,000 * 53| 900
- dHEEEsY 55,0003 = 304 * 43| 660
-d2IJINEE 50,000& = 12& 600
—SOUEHIEAIAEY A 22/
100,000& * 12& 1,200
—SAI = 120,000& = 1CH » 12& 1,440
—Z2H, EAMD S FMLRE
50,000& = 12& 600
-JIEI+=SH (&, HAHES)
50,000& = 12& 600
OFUXXNEdHZAEES =
55,000& = 304 * 43| 660
02 8323l 31,938 32,388 A 450
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200,000& = 12& 2,400
—AAIE e 22 150,000& * 12&8 1,800
520 |4 sl
150,000& » 12& 1,800
- &I EIIZ A 150,000& 150
— E AL Xl HI 3,000
—SY¥3dAE 400,000& = 23 800
Ent=11E=—=PN SN Y] 1,300,000 1,300
- A& FH 1,235& = 10,550km/9km 1,448
—ANAEUHOH BEAEES
125,000& = 1604 = 13l 2,000
O 2328 2323 % HA 12,000
- HSRS(UHUEE) 150,000& * 128 1,800
-&JIes 800,000&  12& 9,600
—Hot+=EAMER 50,000& = 12& 600
O23t2d &HIl+=4&Hl 1,000
O=st2dd AR 1,000
OuA1stt M3 100,000& * 12& 1,200
OUSHOIEEE HIIR=S 50,000& = 12& 600
OUHA1S &ot+=E= 20,000& = 12& 240
OXNEANCHEH 2| 100,000& » 12& 1,200
03 A2 S HI 58,830 70,430 A 11,600
OJiotZ st =M =&l 1,800
OFQUXXEEH HSLHES =S|
1,800,000& * 13l 1,800
ORsom NBL s +8U
2,430,000& =« 13l 2,430
OZ A== 52,800
- U AHZ A Z2A=E
25,0003 = 2AI2t = 43 = 122 % « 123 28,800
-2HAYAR LAY
25,000 = 2AI2t = 43 = 92 & » 123 21,600
-2 g EY IMeE
25,0002 * 2AI2F x 83| * 32 & * 28 2,400
202 oddl 21,400 20,800 600
01 SLHOYI 21,400 20,800 600
OLEHAZESE LRI 17,200
OMEI=EXHE=E Kbl 4,200
203 YR =&l 2,000 2,000 0
03 A F=AH S =AY 2,000 2,000 0
OAH=XH I =AY 2,000
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
204 AR HH| 2,400 2,400 0
03 EZ YA 2,400 2,400 0
ONSEYBL SR+ HE S| 2,400
307 glz2tol & 3,600 3,600 0
05 RIZIRI & 3 3,600 3,600 0
OFXXHHAIE E2FHI 3,600
—gAZ ER2IH 300,000& = 12& 3,600
401 Al Bl 28I 37,015 145,000 A 107,985
01 A& HI 37,015 145,000 A 107,985
OFMAEBEIAL(BMZ) XS A 25,377
O2& A ZOMHIHEOIALE HXSA 11,638
405 RHoHF S HI 738 3,000 AN2,262
01 XL 2 ZFH S| 738 3,000 N2,262
OCIXIgstnet ¢ 234,400 = 1CH 235
O185 HAD|D| #¢ 251,500& = 204 503
FoEgs2H 302,000 302,000 0
301 L2 A=z 300,000 300,000 0
05 S& -0 -EtE2s2E 278,800 278,800 0
Os.cl.gt&des2a3 278,800
-s&¥=¢ 200,000 = 859 « 12& 204,000
- SZH0= 200,000& = 85H =« 23| 34,000
-SFsoBHLY
0,000& = 859 = 23| » 12& 40,800
09 HALAHIE& S 21,200 21,200 0
OJIoF2at =M &ItE A 3,000
OFUXNXNESAMAEAZ (S, AHl)
10,000 = 2% = 2502 5,000
ONEZY =SS USTHSANELES (LS
, Aldl) 10,000 » 5% =« 243 1,200
OS2I SAMAELAZ (S, AHl)
10,000& = 2% = 3002 6,000
OFURXIAE oG 2
20,000& = 259 » 124 6,000
302 OI=LTHOHE & 2 2,000 2,000 0
02 QIZIITHOH R EFR &S BL S 2,000 2,000 0
OZ43 42 S WH=IEIIF0LA
10,0002 * 2009 2,000
KSR ITALY 25,263 19,411 5,852
KNSR IIA 25,263 19,411 5,852
101 @144 dl 19,683 17,411 2,272
04 JIZHHZ2XREE S 19,683 17,411 2,272
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Ehelr XS RITALG (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OEYEI Mdl=H 2
48,2403 * 20 = 123] 11,578
OAIJHXl M= & SZEHURY
48,2403 * 10¥ 123l 5,789
OAIJIRI 22 2RI o2Y
48,240% * 6% + 83l 2,316
201 £B-2dH| 5,580 2,000 3,580
01 At 22l 5,580 2,000 3,580
Otz EHl & 2g&ZIN=2 =& 837¢ 1,900
OZLINRIIMY Mg 2 2,000
OttE 834 S EE8=Y M
55,0003 * 404 * 43| 880
OMYIIEYEIl SKICHHE M=
50,0003 = 44 * 43| 800
HelsS 472 FUEHAALS 35,000 25,000 10,000
L2782 FHAAY 35,000 25,000 10,000
A2 FUHEHAAY 35,000 25,000 10,000
401 Al BIZ 201 8] 35,000 25,000 10,000
01 A& HI 35,000 25,000 10,000
OOt E~HSe0tSEH2 A S FHI S A 25,000
O0tserz & ot=E FHHl 10,000
HY2AZH(LHAS) 1,631,204 1,465,690 165,514
ol 2 gl 1,417,969 1,244,196 173,773
ol 2AH| 1,417,969 1,244,196 173,773
101 @14 dl 1,371,769 1,199,616 172,153
01 2= 1,306,804 1,136,114 170,690
o=2 902,979
—-4= 80,411,000& » 1H 80,411
- 6= 3,449,000& » 6% » 128 248,328
-7= 2,777,000& = 9H » 12&8 299,916
- 8= 2,190,000& = 4% » 128 105,120
-9= 1,566,700& * 9 * 123 169,204
OFSE=E=, 822,568,500& * 0.8/12 54,838
oAt Zex% 74,295
-6= 10,3312 = 6% » 25A12F » 12 18,596
7= 9,332 * 9H * 25A12F » 123 25,197
-8= 8,378 * 4% x 25A12H » 12& 10,054
-9= 7,573% * 9H x 25A12F » 123 20,448
OJt==Y 30,000& * 28Y% * 2.269 = 12& 22,781
OXdsHEx+¢ 5,633
—Jsstu 352,020& * 4% x 43| 5,633
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OFZ2=EIet3 24,120
—254 0] & 130,000& * 4H » 123 6,240
—204 0l & 254 0] et
110,000& = 5% = 123 6,600
— 154014 204018 80,000& = 18 » 12& 960
—10& 0l & 150 2t
60,000& = 11 = 12& 7,920
—-550/4 109012 50,0003 » 4% » 128 2,400
Ol 3,193
-5 3,492,200 * 1 = 4.1% » 128 1,719
—-6=U< 2,994,100& = 1Y = 4.1% » 128 1,474
OB 30,0003 = 8H » 12& 2,880
Oosgs=2e+4 70,0003 * 27H = 12& 22,680
OMal=Xge+E 70,0003 = 798 » 12& 5,880
OMEIEXNHEE JHdts
30,000 = 7% = 12& 2,520
Os0tsad+¢ 706,790& = 5H « 123 42,408
OF U Z A 130,000& * 29¥ » 12& 45,240
OZZ =l 822,568,000& * 1.2/12 82,257
OSIIE &l 902,979,0002 * 0.86 * 7/30/12 15,100
03 RIAHA2Z 2R E > 64,965
OXzggdcHb (52 H) 30,314
-JlE= 1,469,000& * 128 17,628
-J|Z=¢ 1,469,000& * 43| 5,876
-EE 80,000&  12& 960
- dH gAY 130,000& » 12& 1,560
—us2=x4| 130,000& » 12& 1,560
- HE S| 1,469,000& * 60% * 23| 1,763
—XENS 84,9258 » 7Y 595
- MHHNERZ 29,941,273& * 1.24% 372
OUsdd2gd A (Z=H) 34,651
-Jl2= 1,469,000& * 128 17,628
-Jlz=g 1,469,000& * 43| 5,876
-EE 60,000& = 12& 720
- Zu2eg 15,6842 » 24A12F » 128 4,517
- Z AU A 130,000& * 12& 1,560
- WsS2Xl 130,000& * 123 1,560
- EF0Hl 1,469,000& * 60% * 23| 1,763
—HXEAS 84,925% » 7Y 595
—MATHEE = 34,782,889& * 1.24% 432
204 H2 LA 46,200
02 g2 Xl 46,200
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Mz MSAHH(HAS)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O&g=eE =Xl 46,200
43 400,000& ~ 1€ * 12& 4,800
-63 155,000 * 6Y = 12& 11,160
-73 140,000& * 99 = 12& 15,120
-82-~932 105,000& * 124 = 12& 15,120
Jl=23tl 213,235 221,494 A8,259
Jl23Hl 213,235 221,494 A8,259
201 Bt A | 113,235 121,534 AN 8,299
01 At 22l bl 35,925 37,284 A 1,359
Oger+gHl 19,118
—JlE AR 8B 9,234
—oRa =ADl Qe
120,000 = 204 = 128 2,880
- JlEtx=2H| 6,156
-018& AME2Z M &b 8,800& = 85H 748
-XE QUE =2 20,000& = 53] 100
O0r2t ¥ 522234 12,847
oga 4 30,000& * 23| x 12& 720
OFWUZ2ANAE AIE2 60,000& * 12& 720
ORI HAEAIAE 22| H|
210,000& = 12& 2,520
02 332494l 77,310 84,250 N6,940
03322 ¢ MA 77,310
-RER2 2,100,000 = 12& 25,200
&HdIe= 3,200,000& = 12& 38,400
—MNOIETAE=2 1,000,000& * 12& 12,000
-~ NSRYREEZ 250,000& = 13| 250
— XS XHA 30,000& * 13l 30
-ANSHEE = 900,000& = 13| 900
- MIEBXNERE SUHERS
40,000& = 12& 480
-SFNEREE2 50
INE=PA; 50,000& = 13 50
202 04| 80,640 80,640
01 2LH 0 HI 80,640 80,640
OJlgg2=&ul 80,640
203 &R =&H| 14,560 14,520
01 J|22HLR=AH| 9,200 9,200
OJ| 22 R =AY 9,200
02 RIS R =X H]| 1,160 1,120
OFJIArE 2 =& H| 40,000& = 29%Y 1,160
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